= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

16

2 3 4 5 7 9
3/4"9 HH ANCHOR NOTE:
BOLTS W/ 8" MIN. CONTRACTOR
EMBEDMENT TYP. SHALL KEEP ALL
4 PLCS. HARDWARE FROM
12x12x3/4 R (E) INSTALLATION
[ WF.P.
> TIE OFF LINE TO
®) SHACKLE AT
VERTICAL PLATE,
TYP.
8” )
RELOCATED RO 3/8” HEX HEAD
SYSTEM TANK BOLTS CAST IN
O O PLACE, TYP. OF 4
2”
N—
3" HOUSEKEEPING
SECTION A-A \ PAD MINIMUM, TYP.
, OF 4
SEISMIC STRAPS, 2" WIDE, , ,
16 GAUGE GALVANIZED. 1 5/8°x1 5/87x16 GA FéT
SECURE TO SUPER STRUT STRUT CHANNEL, TP _
WITH 3/8” MACHINE BOLT PR ML e
AND SPRING NUT. T e e N v
b%%ﬁf AT 1/3 AND 2/3 I EMBEDMENT, TYP.
71\ RO SYSTEM: TANK MOUNTING
22A-Ms-502 NO SCALE
N~
3/8" U BOLT AT 1
SQUARE TUBE, TYP. G DEEENC PDEEENRC | )
3/8" INSERT
/3/8"(25 INSERT MIN. (4) PER ANGLE
WATER SOFTENER WATER SOFTENER CARBON FILTER e ! L ——yo ———3"x3"x4” ANGLE
ROD STIFFENER, TYP.
4x4x1/4” GALV TS -
BRINE TANK - DOUBLE NUT TOP AND BOTTOM
15/8" x 15/8 x 16 GA E
STRUT CHANNEL, IN 2 E
DIRECTIONS FOR SEISMIC :
C [0)e 0 [0) o o (9 [0) o o (9] oy o BRACING é
4 \
A A E
9 o o]
I I I I A=
[ | [ [ [ [ I I I | o 2 1 H S P ¢ S
o 5/8” ALL THREAD ROD. TYP. OF
(6). DOUBLE NUT TOP AND BOTTOM
MOUNTING HOLE IN FAN COIL
CHASIS
/7« WATER SOFTENER SUPPORTS 2\ FAN COIL SUPPORT - FAN COILS FC-1 AND FC-2
\ ] | |
22A-Ms-502 NO SCALE 22A-Ms-502 NO SCALE
~—_" N~
FIRST 3 HANGERS FOR EACH PIPE AND
BRANCH SHALL BE SPRING & NEOPRENE
TYPE. TYPE "H” FOR 4" [100mm] DIA.
PIPE AND SMALLER. TYPE "H—-P” FOR 5"
[125mm] DIA. PIPE AND LARGER.
RIGID PIPE % T
HANGER
(TYPICAL) s——=¢ —C—~ 55—
INSTALL HANGER AS CLOSE j CMU WALL /
TO PIPE ELBOW AS POSSIBLE BUTTER OR BALL ” ”
b (TYPICAL) SHUT OFF VALVE, TYP. 2~ X 27 X 20 GA ANGLE
~ CHECK ALVE CAULK, TYP. FRAME. ALL AROUND
STRAINER /3& PRESSURE GAGE
) O— ATTACH LOUVER TO
1/2" [15mm] BALANCING VALVE LOUVER fngERFEék/IAEVTA? ALLOW
MECHANICAL COUPLINGS (6” o
[150mm] MIN. SPACING) ﬂ\ \/
(TYPICAL)
22 GA GALVANIZED
M SHEET METAL
BLANK—OFF SECTION
. NS
FLOOR
, N / k 28" TALL MOTORIZED
;ngngnAw% MIN. DIA. CONCRETE BASE \\ /DAMPER FOR EMERGENCY
(SEE DETAIL) NOTE: § ROOM PURGE.
NOTE: SOUTH LOUVER ON \\ CONTROLLED BY
PUMPS ARE VERTICAL INLET AND DISCHARGE EAST WALL HAS \\ REFRIGERANT MONITORING
PRIMARY CHILLED WATER AND CONDENSER WATER PUMPS, BLANK—OFF PANEL d SYSTEM
CHP=X AND CWP—X, ONLY. OVER INSIDE FACE OF
i} DOUBLE SUCTION FLOOR-MOUNTED PUMPS - =" 7%
/5\ CONNECTIONS WITH MECHANICAL COUPLINGS m LOUVER (7. ForR NORTH (2) LOUVERS)
22\@3/_552 NO SCALE 29A-MS-502 NO SCALE
N
| 00% CONSTRUCTION DOCUMENT SUBMITTAL
CONSULTANTS ARCH ITECT/ENGINEERS Drawing Title Project Title Project Number _
- : DETAILS - NEW VA CENTRAL CALIFORNIA HEALTH CARE SYSTEM|| 570-13-300 Office of
e f) oo email: mail@axiomengineers.com NEW BUILDING 22A + CHILLER INFRASTRUCTURE |[Building Number Construction
AXIOM ENGINEERSSM 0oour. Cat% hfp architects 22A and Facilities
™\ . . . Approved: Project Director Location Drawing Number
CONSULTING ENGINEERS ST\ EXP. SEPT 30, 2015 los altos, ca 94022 : : 22A-MS-502
) . . ) ) Date Checked Drawn
2 L R . 650 964 4514 fa.x- 650 967 5148 Departrnent Of
roject # - onterey, Caffornia 53040578 5/08/2015 WME CADD Q& . =
o I Bl AE Project # : 20130113 Monterey, Calif 93940-5788 Dwg. 62 of 86 Veterans Affairs
- VA FORM 08—-6231
2 3 4 5 7 9 |




